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 Question 1. (5 marks) Evaluate the following indefinite integrals:
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Question 2. (8 marks) Given:
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Evaluate the following integral using the definition of the definite integral.
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Question 4. (5 marks) Find the average value of the function f (x) = cos*x sinx on the interval
[0, 7].
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Question 5. Evaluate the following integrals. Simplify as much as possible.
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Question 6. (5 marks) If f is continuous and [ f(x)dx = 12 find
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Question 7. (5 marks) Find the derivative of the following function. Clearly show all of your work
~ for full marks.
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Bonus. (3 marks) Show that
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